Itis raining outside.

Answer:

The sun is shining
Answer:

The wind is blowing

Answer:

Itis hot today.
Answer:

Itis cold in winter.
Answer:

The snow is falling
Answer:

The leaves are falling
Answer:

The sky is cloudy.
Answer:

A2

The temperature is dropping.
Answer:
The weather is unpredictable.

Answer:




Itis raining outside.

Answer: heavily

The sun is shining
Answer: brightly

The wind is blowing

Answer: strongly

Itis hot today.
Answer: extremely

Itis cold in winter.

Answer: freezing

The snow is falling

Answer: gently

The leaves are falling
Answer: slowly

The sky is cloudy.
Answer: partly

Answers

The temperature is dropping.
Answer: gradually
The weather is unpredictable.

Answer: unusually



